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(Easy) (LB)
for all x € R, then 2f(0) + f’(0) is equal to
(21#8)
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,_ @)
Find the maximum integral values of a for which = +:2(i;2x3;90+4 <0,VxeR.
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(Fv
If f(x)= :iti, X %and (fef)(x)=g(x),where g: R — {%} - R — {%}, then Ew(j

(g ° g - g)(4)is equal to (xy,
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(Y

Jdevatl
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(TF)
If sin"'a+sin~' +sin"'y =mand (a + B + y)(ax + B —y) = 3ap, then find y.
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_C (Le)
If one of the diameter of the circle x* + y? —10x + 4y + 13 = 0 is a chord of
another circle and whose centre is the point of intersection of the lines

2x + 3y =12 and 3x — 2y = 5, then the radius of the circleis
¢, m=Jas+u-13 =Jwe=Y

c\c= J 2= +y= =J20
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Find number of different words from lﬁSﬁﬁflﬁ_ﬁ)\N taking 4 at a time.

DS RBUON 3T 2T
Categer a Se |ecHon Acvarn gevnenrts INDX 0{ Loordy
4oifP c?C\, Y g, x Y1
2 AQ ke +2 Dy 2, x &c
. 2\ =
L ARKke 4+ 2 o tter 2¢ .
2\.2) ~ 7\2'(
0 L 2|.2)
3AX\ke a8 \( % -
X *C L \
o o XEGRA




7D N
JEE MAIN 2024 = -+ PAPER DISCUSSION

d iy - sl o
Leta=3i+j—2k,b=4i+j+ 7k and ¢ =i — 3j + 4k be 3 vectors. If a vector

0,thenp - (i — j — k) is equal to

——
pr— —
L — —

D) 61 P=C+ 3y P= C-8\
| Dt VWG 7__

Ch= T AR BANRS (‘*S*"k\
= =70 0- )\
0=R+A(-1) p—% S 1

-
e—



|
¥
N

Fe ((j-)= —3ITN1>=



JEE MAIN 2024 = PAPER DISCUSSION

y/ 2

2_2 i_z = 1 has foci (15, 0) and latus rectum = V50, find square of eccentricity
o @ae=5 2 L* - . S V]

of a’ alp? = 1. o = ng . il '
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The solution of differential equation yj—; = x(log,x —log,y+1) ,x>0,y>0

and passing through (e, 1) is g = PPy 5 | )

y
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5
Find sum of coefficient of x* and x~13 in (1 + x)(1 - x?) (1 + :—2 + % + x%) :

2 2 S ,
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A set A is given {1, 2, 3, 4} and a relation R is defined on set A such that
R ={(1,1), (1, 2), (1, 4)} and R is subset of §, where S is equivalence relation,
find minimum number of elements in §.

ReLlexive ' (1,1) C1,20,Y) (2,2)(2,32)(4,Y)

SYrmt - Q") (\,2) (1’\.') (2,2)(3,3)(\7,9) (2,') (Y1)
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LetS = [yz < 4x,x{ii;)1 ()i':)Z)] <0.x+ 3]. Find area of region S.
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LetﬁxB=Z‘xBandﬁ-E=O,ﬁndﬁ-(i—j—ﬁ).

Where, (zg’leoj")
a=2i+3j+ 5k,

b=2i—4j—k

¢=j+2k
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A basket has 15 good apples and 3 rotten apples. Two apples are drawn from

this basket. Let number of rotten apples drawn be the random variable x. find
variance IS G IR

\ \77 I
2 Y& X\ < 1R x\
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A parallelogram ABCD is given such that vertices are A(a, B), B(1, 0), C(y, 3),
D(1, 2) and a line 3y = 2x + 1 passes through A and C. Find the value of

gy Nf"” (1, S)
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NS

ld| = 1,|b| = 4,¢ = 2d x b — 3b. If a is angle between b & ¢ find 192 sinZa.
Given thatd - b = 2. I _ _
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f(x)= ffl(e‘ — D2t - 1)t -3)18(2t — 10)%dt . If p is number of maxima
of f(x) and g is number of minima, then find value of p? + 2q =?
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A line perpendicular to the lines

r—l—]+k+/1(l+]+2k) T,

F = ]+k+u(21—]+lgL

passes through (5, 3, -2). Fmd the perpendicular distance of (0, 2, -2) from this

line. — 3 ) =
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Let a be the sum of all coefficients in the expansion of

log(1+t)
312024 ) f 2“74+1d
(1-2x+2x (3 —4x + 2x°) andbzlms
X
If the equation cx? +dx+e=0and 2bx*+ax+4=0 has a common root, where
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If the system of linear equation x —2y+z = —4;2x+ay+3z=5and
3x -y + Bz = 3 has infinitely many solutions, then 12a + 13 is equal to

X—2Yy+4+2="Y x o DX A+—AKYTFTI3=2=5 *x3
@ s2 J g
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% 58 \@"‘*”) pos
(30(-\ ). + Y- (92 —13(G-y.
®) oo g HER BEap)

“O\' 0 Tamny Sady, - 0

q”\’; (q-—l‘g\:g
BRAREN RSN & Yy



G-2p)=0
L) — (o('f v)

— 108 )_
3,(+.2,‘(°<*(f)(q ,—3 D,

A+ L — (¢F+Y) /ja.‘:O



7D N
JEE MAIN 2024 = .-+ PAPER DISCUSSION

Let y = y(x) be the solution of differential equation
@ ey )+ > ol = (O, E) satisfy the condition y (E) = 2,theny (g) IS.

dx  sinx(secx-sinxtanx)’ 2
]
adY = Brx + Yt X "f SIinXx: (OSX
=% —Lrex - 3% ( T —SrmXtan<) = — 2 I(‘,DSGC2X X
- — wosec2X
_Z!\% = et Y DRR - v + Y COSX — (S il —batzx\
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Se@ K- .
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-\ X iy 0 \
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ANy






vectoxr

3D—)Foot v

3)SD b/w
Skeuw) Zines



